Annexure – H 2 (Cancellation)

Date: 18.12.2018

<u>Cancellation of locations in the Advertisement published in the website www.petrolpumpdealerchayan.in for "Appointment of Regular / Rural Retail Outlet (Petrol Pump) Dealerships" by IOCL on 14.12.2018</u>

An Advertisement was published by <u>IOCL</u> on 14.12.2018 in the website <u>www.petrolpumpdealerchayan.in</u> seeking applications for "Appointment of Regular / Rural Retail Outlet (Petrol Pump) Dealerships" at various locations in the State of Madhya Pradesh with Sl. no 1 to3392.

The Locations with SI (5,40, 510, 589, 907, 1011, 1070, 1309, 1327, 1957, 2476, 2479, 2514, 2612, 2616, 2637, 2647, 2668, 2672, 2683, 2707, 3349, 3372,1311,970,941,908,2587,2564,3130,3156,1857,1580) as mentioned below, stand cancelled:-

SI. No	Name of location	Revenue District	Type of RO	Estimat ed monthl y Sales Potenti al #	Categ ory	Type of Site*	Minimu Dimens M.)/Are (in Sq. N	ion (in a of the site	Finance arrange the app (Rs in L	d by licant	Mode of Selectio n	Fixed Fee / Minim um Bid amou nt (Rs. in Lakhs)	Secu rity Dep osit (Rs in Lakh s)
1	2	3	4	5	6	7		8	9a	9b	10	11	12
			Regular / Rural	MS+HSD in Kls	SC CC-1 SC PH ST ST CC-1	CC / DC / CFS	Frontag e	Depth Area	Estimate d working capital requirem ent for operatio	Estimat ed fund required for develop ment of infrastru	Draw of Lots / Bidding		

					ST PH OBC OBC CC-1 OBC PH					n of RO	cture at RO			
5	Ujjain city Bherugarh	Ujjain	Regular	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
40	Durana on NH-36 Moving from Guna to Biaora on LHS	Guna	Regular	180	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
510	Maheshwar on SH 19	Sehore	Regular	114	Open CC 1	DC	35	35	1225	25	60	Draw of Lots	15	5
589	DewanGanj on Bhopal- Vidisha Road	Bhopal	Regular	114	sc	CFS	35	35	1225	0	0	Draw of Lots	0	3
907	Upto 2 KM from BPCL RO Divam Baghel Petroleum on SH-18 LHS from Sonkutch to Ashta Road	Shajapur	Regular	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
1011	Between km stone 13 & 20 on SH-26, Alirajpur-Chandpur Road	Alirajpur	Regular	135	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
1070	On Dhamnod by pass road on LHS (while going towards Mumbai) on NH-3	Dhar	Regular	110	Open CC 2	DC	35	45	1575	25	75	Draw of Lots	15	5

1309	Between km stone 5 & 9 on SH-26, Alirajpur-Chandpur Road	Alirajpur	Regular	125	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
1327	Between Kilometer stone no. 22 and 19, on Indore-Betul Highway (Nemawar Road), Dewas	Dewas	Regular	170	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
1957	On SH 14 RHS between Km Stone 131 and 134 while going from Damoh to Katni	Panna	Regular	100	Open	DC	35	45	1575	25	60	Draw of Lots	15	5
2476	Luharia On Mandi Bamora To Udaipur Road Block Nateran Tehsil Nateran	Vidisha	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2479	Khera On Bawari Mohannagar Road Block Palera Tehsil Palera	Tikamg arh	Rural	72	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
2612	Avaldaman TEHSIL Kukshi	Dhar	Rural	65	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
2616	Umari , TEHSIL kukshi	Dhar	Rural	65	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
2637	Khategaon TEHSIL Khategaon	Dewas	Rural	65	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2647	Undasa TEHSIL Tarana	Ujjain	Rural	60	Open	DC	20	20	400	12	30	Draw of Lots	5	4

2668	Village Pachkheda, on ManawarSemalda Road TEHSIL Manawar	Dhar	Rural	55	ОВС	DC	20	20	400	12	30	Draw of Lots	5	3
2672	Village bhogdad on ManawarSemalda Road TEHSIL Manawar	Dhar	Rural	105	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
2683	Within 3 km from Narmada Jhabua Gramin Bank, Nalchha towards Lunhera TEHSIL Dharampuri	Dhar	Rural	100	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
2707	Village Sirsara, on ManawarSemalda Road TEHSIL Manawar	Dhar	Rural	55	Open	DC	20	20	400	12	30	Draw of Lots	5	4
3349	Satwas TEHSIL Satwas	Dewas	Rural	60	ОВС	DC	20	20	400	12	30	Draw of Lots	5	3
3372	On Gandhwani Dehri Road within 2 km from Gandhwani Bus Stand TEHSIL Gandhwani	Dhar	Rural	55	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
	Tadonya On Jamner													
254	Maksudangarh Road Block Raghogarh Tehsil Maksudangarh	Guna	Rural	72	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
2514	Within 3 Km from Katan													
1580	Tiraha Saleha towards Nagod on NH 943	Panna	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3

1857	Within 2 Km from Bagaspur Chauraha towards Narsinghpur on SH 22 (Gotegaon Bypass)	Narsingh pur	Regular	100	Open	DC	35	35	1225	25	60	Draw of Lots	15	5
3156	Village Majhigawan (Rewa Baikunthpur Road Via Lauwa) Tehsil Sirmour	Rewa	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
3130	Village Devgaon (Between Ghuraghat and Padajhir Road) Tehsil Batiagarh	Damoh	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
2564	Upto 2 Km from Village Madhiyadoh on Hatta Road Tehsil Batiagarh	Damoh	Rural	46	ОВС	DC	20	20	400	12	30	Draw of Lots	5	3
2587	Village Fulkona (Jhiria tola to Marvahi Road) Tehsil Kotma	Anuppur	Rural	46	Open	DC	20	20	400	12	30	Draw of Lots	5	4
908	On RHS on Maksi Bye Pass while going from Dewas to Shajapur (Within Municipal Limits of Maksi)	Shajapur	Regular	120	ОВС	СС	20	20	400	25	10	Bidding	30	4
941	On RHS on Shajapur byepass while going from Maksi to Sarangpur (Within municipal limit of Shajapur)	Shajapur	Regular	110	ОВС	DC	20	20	400	25	45	Draw of Lots	15	4

970	Upto 4 Kms from Eicher Factory Square, Pithampur towards Mhow On Pithampur Mhow State Highway	Dhar	Regular	110	OBC CC 1	DC	35	35	1225	25	60	Draw of Lots	15	4
1311	From Eicher Motor Square to Power House Square, on IIM, Indore Pithampur Road	Indore	Regular	150	OBC	DC	20	20	400	25	45	Draw of Lots	15	4

Application fee of those Applicants, who have already submitted the applications along with the requisite application fee for the above locations, shall be refunded.

All other terms & conditions of the advertisement published on 14.12.2018 remains unchanged.